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1 A4 |1 AE4 |1 AfE4 | 30,515,000 | 30,515,000 30,515,000 0
2 fEBhA: | 1 MEBLA: [ 1 B4 | 2,807,000 2,807,000 2,807,000 0
3 M | 1 ARie | 1 Mulie 0| 13,326,221 13,326,221 0
4 FEON | 1 RN | 1 HEA 1,000 218 218 0
AG R 33,323,000 | 46,648,439 46,648,439 0
K I H TEAE | REHEGR | EFE) HER
1 =t |1 A 6,000 6,978 6,978 0
1 EEE
2 HHE |1 FHE 86,000 15,971 15,971 0
2 FEE |1 FEE |1 FEE | 33,230,000 36,008,373  32,556,373] 3,452,000
3 Tl |1 TIHE [ 1 Pl 1,000 0 0 0
kAR 33,323,000 | 36,031,322  32,579,322] 3,452,000
FTIERT FTIEZ =LylE
AN | 46,648,439 46,648,439 0
oo A 36,031,322| 32,579,322 3,452,000
7 Gl 10,617,117 14,069,117|  -3,452,000
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